
("\ B.sta'v,rl f ' (3\ ao.^

Lcsv\rng:

D , 
tl 

cv eur5k vatcvL

\ ( 3t h\ {

6 
t (3\ = \ir,nt hlo

sr* +'(3\= 4,8

D rrral zofi s rt* \n tu U at :{t*\= 0,8*t

('(^\=lri,r.'r
t h+o

r^){ to"u,\ * f
tL

\
\

,

r) (a

(3)

)

Ai{lc'.,.ur[qat
Bzr 1a tnn c rl aS

s\ritt4 upt *rYt
prcvrlda dr$cvctds-

k rratcvl" .

-4*\,

a,8 ' 3 
t

|r I,L

(),8 ( 3'* 2 g Vr rh') o,B ?2

I,L

0jl4'-* o,B 2 3h+o,6ht 0#4-

4,8h + 0,8h2

},L

h ( 1,8 + o, Evr\
\,8 t o,8h

LLI,L

Drvl\ah"lts rtavde 6lri x = 3

f 1i th\ - f rt)

h.

=: [6n (4,8t 0,Bh\ =416
!t* 0

Dc-vtradz*avd c t L

kavt sr&w btslavuvuaJ

L= q v-a wsvtttact aV

a,h,tvrsVwrot ai

'= 
h 

3h, 
urrrt noll /

Mr.vr k.ut rrcVsi r rAovrsa s& h*'r 
'

'(a\= \rwr-

h?r h

0b scv vor Q aH I rvrr
rt *o

maslc sln"Vr!"S u"h i ra'gl

[, oun t\ f L Aess atl

\U.h\- {(3) o,g(g*h\t -a,B Zz
= lirn

h+o

= \rrn
h+o

= \ryru

h+o

: \rvrt
ka0

h"

(l,B (3'*L Z h r I't') 0,8 L2

I,L

off*0,?r 2't Lr +0,8!,? -Wf

{,8h + a,Bh2

I,L

= lryrL ( t
hrDh

3,,l*tvlr 
alrt beY,Ikvtas

,t +0,8v) = 4,8


